CMPE 344/CMSE 346 LAB 3

Review Section 1.4 Implementing Network Software in your textbook by Peterson and Davie. Study the example application simplex-talk. The codes for client.c and server.c are provided.

(a) Modify the simplex-talk socket program so that each time the client sends a line to the server, the server sends the line back to the client. The client (and server) will now have to make alternating calls to recv() and send().

(b) [bookmark: _GoBack]Then, modify the simplex-talk socket program so that it uses UDP as the transport protocol, rather than TCP. You will have to change SOCK_STREAM to SOCK_DGRAM in both the client and the server. Then, in the server, remove the calls to listen() and accept(), and replace the two nested loops at the end with a single loop that calls recv() with socket s. Finally, see what happens when two such UDP clients simultaneously connect to the same UDP server, and compare this to the TCP behavior.

Some notes:
To compile programs:
gcc {program_name.c} -o {executable_name}
*Note:The { x } mean encloses mandatory parameter x  
To run an executable:
./{executable_name}
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